.

Ul



vl

2. s F L B5o 22 A

r{o
fijo

REn2R? (d 270)

® 0.123123---=0.123 @ 23.2626--- = 23.26
® 3.14151415--- = 3.14151 @ 0.2343434--- = 0.234

® 33571571 --- = 3.3571



S A4 vehd o), 100 WA 2] 9] =2

@ 3 3 4 @ 5

® 6



4. x=26666--- 4 ], 10x — x9] FF2?

D 0.26 ® 2.6 B 2.4 @ 24 B 26.66



5.

e B710] £8 2 4RE Aedz JAT AL

7]

@ 0.154

© 0.154

=]

© 0.i54

@ 0.154

Pe-0-©-09
®e@-0->-0-0
®Be - > 0 - 06

@09-0-06 -6
®O0-0-0-06




S35 1519 ol A4S Foha 1 A 4a57t B o
1235

zee 5 Aelo] A4S BE D297

d

—

D 9 ® 18 B 45 @ 90 B 99



58 44R BRE B0l @ Sl £AE £
219

- .

O 922 B 8 @ 12 B 0.12



ol
5

j—

d
__O.._

o
1

T

L7} 36 o]

T
No

<
]

5 T Aol

29
36

®

27

36

@

25
36

®

23
36

@



?

O
-

CESEDEPRTE:

o} a7} 30 ©]5

ki

@ a=21,b=7

@D a=7b=10

@ a=21,b=10

® a=14, b=10

® a=10 b=21



i

-
=]

o
<K

® 22 B 27 @ 30 B 33

D 12



11.

92 135 2 B4 genfe Bolth [
S EEEEE Y
) 1.35 2 x 2 5,

rO
=
o
1
o
1=}
rlo
4>
i

x=1.3535---@

[ ]x=1353535---@

™,

Q-0 = At

ot
e

]_

HEgN

> EE
B =
> R

B =



12. H2490 F A4A94a, b ol H5l 236 xa=03xb L W, a+b 9
27

@D 11 ® 26 ® 57 @ 78 B 89



e S8 oA 1 HeE DAY S olaldl Sk RS 2 AL

@ 0.2 © 0.3 ® 0.4 ® 05 @ 0.6
® 0.7 ® 0.8 © 0.9

@D 2 78 @ 374 B 4 7} @ 5 7} G 6 7H




@ 15 ® 60 @ 90 ® 99

@D 5



15.

.
45’ 45° 45" 45°

FElgo ApE?

@D 474 @ 1874

200 .
- pe fe)

3 2274

o}

hi

ageolWA, 47t ol

@ 6271 ® 6671



16. x=1.375 4 ), 103x - 10%x & F-otol=h

YR
-






18.

X =
90

7t =

2 (a= 100 o]5ke] %) A W, x7F A7} oFI AL §
a9 7] 45 Fotolet.

YR
=%

FetAa



@ 5.33

B 5.34

48

Axratol

@ 5.35

5 B AlAlsto]
0.786 ©] = Atk

3 5.36



)
20. A+0.3:§?=l o, A 9] Fr2?

D 0.2 @ 0.23 3 0.3 @ 0.32 3 0.4



